



$$\frac{\hat{r}}{|\hat{r}|} = \frac{1}{\sqrt{1+4t^2+9t^4}} (1, 2t, 3t^2)$$

From $t = 1$

$$\frac{\hat{r}}{|\hat{r}|} = \frac{1}{\sqrt{1+4(1)^2+9(1)^4}} (1, 2(1), 3(1)^2)$$

$$= \frac{1}{\sqrt{1+4+9}} (1, 2, 3)$$

$$= \frac{1}{\sqrt{14}} (1, 2, 3) = \left(\frac{1}{\sqrt{14}}, \frac{2}{\sqrt{14}}, \frac{3}{\sqrt{14}} \right) = \left(\frac{\sqrt{14}}{14}, \frac{\sqrt{14}}{7}, \frac{3\sqrt{14}}{14} \right)$$





$$\begin{aligned} A \times (B \times C) &= 1(8 \times 2) - (C-4 \times 6)i - 1(8 \times 1) - (C-4 \times 5)j + 1(2 \times 5) - (6 \times 1)k \\ &= 116 + 243i, -18 + 20j + 110 - 61k \\ &= 30i - 28j + 4k \end{aligned}$$

$$3) R = 4 \sin 3t i + 4e^{3t} j + 7t^3 k$$

$$\Rightarrow \dot{R} = (4 \times 3 \cos 3t) i + (4 \times 3e^{3t}) j + (7 \times 3t^2) k$$

$$\Rightarrow \dot{R} = (12t \times \cos 3t) i + (12t \times \frac{1}{2} e^{3t}) j + (21t^2) k$$

$$\therefore \dot{R} = (-4t \cos 3t + C) i + (4t \frac{e^{3t}}{3} + C) j + (\frac{7t^4}{4} + C) k$$

$$4) \text{ If } A = 7i + 2j - k, B = 2i + j + 4k, C = i + j + k$$

$$\text{Find } (A+C) \cdot (B-A)$$

$$\begin{aligned} A+C &= (7i+i) + (2j+j) + (C-k-k) \\ &= 8i + 3j \end{aligned}$$

$$\begin{aligned} B-A &= (2i-7i) + (j-2j) + (4k-k) \\ &= -5i - j + 3k \end{aligned}$$

$$\therefore (A+C) \cdot (B-A) = (8 \times -5)i + (3 \times -1)j + (0 \times 3)k \\ = -40i - 3j$$

5) Find a unit vector tangent to the space curve $x=t, y=t^2, z=t^3$ at point where $t=1$.

$$x=t, y=t^2, z=t^3 \quad t=1$$

$$\text{Let } r = (t, t^2, t^3)$$

$$r' = \frac{dr}{dt} = (1, 2t, 3t^2)$$

$$|r'| = \sqrt{(1)^2 + (2t)^2 + (3t^2)^2} = \sqrt{1 + 4t^2 + 9t^4}$$

Name = Ibrahim Alwasan Alab

College = Engineering

Department = Mechatronics

Matric NO = 191EN6051008

$$1) x^2 = 2t^2, y = 6t^2 - 4t, z = t - 5$$

$$V_x = \frac{dx}{dt} = 2t^2$$

$$\frac{d}{dt} \Rightarrow 2 \times 2t$$

$$= 4t$$

$$V_y = \frac{dy}{dt} = 6t^2 - 4t$$

$$= (6 \times 2t) - 4 \times 1 \quad (4 \times 1)$$

$$= 12t - 4$$

$$V_z = t - 5$$

$$= 1 - 0$$

$$= 1$$

$$\begin{aligned} \therefore \text{Velocity} &= V_x + V_y + V_z \\ &= 4t + 12t - 4 + 1 \\ &= 26t - 3 \end{aligned}$$

$$2) A = 1i + 2j - 4k, B = 2i - 3j + 1k, C = 4j - 3k$$

$$(B \times C) = \begin{vmatrix} i & j & k \\ 2 & -3 & 1 \\ 0 & 4 & -3 \end{vmatrix}$$

$$\begin{aligned} (B \times C) &= 1(-3 \times -3) - (4 \times 1)i - (0 \times 3 - 4 \times 1)j + 1(4 \times 2) - (-3 \times 0)k \\ &= 9 - 4i - 1(-6 - 0)j + 8 - 0k \\ &= 5i + 6j + 8k \end{aligned}$$

$$A \times (B \times C) = \begin{vmatrix} i & j & k \\ 1 & 2 & -4 \\ 5 & 6 & 8 \end{vmatrix}$$